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# £ ™ § 3,550 1,818 25479| 13,447 12,013 25,567,417
# LE M X § 1,825 937| 13,953 6,991 6,943 12,291,626
# £ g F 867 496 5,449 2,672 2,777 3,343,649
BR =2} iy 44 23 220 108 112 195,818
& HF g 17 9 40 20 20 19,787
i T 16 12 66 25 41 27,263
X iy} 36 24 160 71 89 66,294
N i 27 15 213 103 110 34,341
£ A i) 24 15 100 54 46 96,211
A R % H 32 18 188 139 49 136,526
A T 28 24 95 60 35 62,911
E A i) 29 22 125 62 63 34,523
fn =1 i) 6 3 34 19 15 43,858
= i) 13 4 103 78 25 95,885
) i) 45 20 405 250 155 355,460
¥F T 21 13 70 30 40 14,827
X T iy 9 5 16 8 8 X
H I T 9 6 28 12 16 8,956
= B i) 23 13 150 75 75 88,961
N iy} 34 25 109 51 58 54,233
85 B T 21 17 61 31 30 33,182
£2) i) 66 45 317 134 183 315,364
X R 12 8 46 23 23 40,020
= i) 2 1 5 3 2 X
H iy i 170 72 1,762 796 966 760,702
= -3 iy 9 4 99 59 40 137,293
B E — T B 29 10 160 86 74 202,877
EE —TBH 70 44 341 115 226 219,515
L ER =T H 54 37 305 154 151 128,372
# BT = T H 7 4 29 5 24 10,832
#t i 14 3 202 101 101 155,221
A W7 i 38 /N § 234 131 1,215 578 637 1,027,806
-/ g i) 10 8 38 22 16 15,624
kR % — T H 12 6 83 41 42 94,994
R ¥ — T H 16 11 119 31 88 48,186
R B = T B 31 19 95 33 62 62,582
R F & 4 & 18 14 67 21 46 3,271
B 2 m| 10 7 34 14 20 13,139
= pd T 15 10 76 57 19 9,775
= pd T 37 14 170 64 106 99,642
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o iy 32 16 215 91 124 266,073
i B 18 11 60 28 32 50,108
¥ R 11 7 97 81 16 31,609
a R 6 4 23 8 15 26,014
V. iy 18 4 138 87 51 306,789
= i Mg E 220 122 1,436 743 693 769,510
B M Lt X B 17 9 87 52 35 30,126
5 M Lt H 35 20 131 48 83 82,109
5 fm & #H H 15 9 83 46 37 30,463
= o #H E 7 6 16 3 13 8,201
B i Mt # HET 6 3 15 9 6 6,910
= it 7 OB A 2 2 3 1 2 X
B M Lk H 5 3 21 13 8 3,866
= M T JE B 9 9 51 21 30 30,897
e ERFHE 1 1 1 0 1 X
= M T X H 15 14 30 11 19 7,930
EMm =811 16 9 74 43 31 15,573
= iy dt JE HT 3 1 24 17 7 3,260
HMERR=TEBH 5 0 120 54 66 90,961
I\ = hil 46 25 337 220 117 217,313
i [0)) il 10 0 222 100 122 145,535
=1 o) 21 8 176 79 97 90,070
a5 M & H 7 3 45 26 19 5,936
A R b i B 183 87 2,025 922 1,103 1,426,050
#* BT — T H 13 9 73 54 19 92,582
% BT — T B 8 3 40 19 21 56,621
# BT ©® T H 13 9 37 12 25 18,727
% BT E T B 5 0 140 33 107 204,913
WmOK L H 14 11 31 18 13 14,110
WK o H 12 3 271 120 151 233,772
wmOKR EH 5 1 29 26 3 19,380
/N iR i) 2 0 9 8 1 X
MR $ mB H 6 5 22 17 5 19,313
® % i) 8 6 21 10 11 7,490
HMEER—TH 9 0 171 89 82 87,501
HMEERZTH 45 16 768 305 463 382,442
N 1L 23 10 301 139 162 169,553
BT 7R 2 0 47 42 5 X
b D Al 1 1 1 0 1 X
WERE—TBH 5 2 38 9 29 35,178
WEE ZTH 4 4 12 10 2 5,526
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WEE=TH 7 6 13 11 2 3,562
WRETMT A 1 1 1 0 1 X
W20 B b g /N B 291 85 3,694 2,024 1,651 5,649,950
il ia B 63 23 453 268 185 589,685
ur = il 18 10 103 74 29 95,317
x P fiE] 19 6 142 83 59 90,792
i} =3 2 1 7 5 2 X
i B i 133 18 1,966 944 1,003 3,830,735
gl bicd 23 7 845 567 278 970,492
T 8 n 12 7 102 45 57 40,590
H T 10 4 56 25 31 15,731
Fq ;0] 1 1 2 1 1 X
t ) 1] 6 5 13 9 4 6,572
X 3 4 3 5 3 2 537
L 5 A Hb s /N B 30 16 134 52 82 74,661
=} r e 2 2 10 5 5 X
% B 2 2 4 1 3 X
i 5 6 3 14 2 12 6,246
iz B 3 0 17 14 3 8,843
= i 10 6 38 9 29 21,922
B n 3 1 19 7 12 23,244
5 T 4 2 32 14 18 9,151
T4 2 1B EH#
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